5E A = T\

R I B > Dimensions

L3

3-]AW SCROLL CHUCKS

PS 4-JAW SCROLL CHUCKS
SESHEIPY T\ ZEE

R Y B > Dimensions

BI3LEY %38
Front Mounting Rear Mounting FG
E;m‘ g = —¥
T
=3
EE{, il Lﬁ—k w_ Il ol al <
Q Q Q
F
g b
#82 #% 38 > Specifications &8 {T/UNIT:mm
AT FRAS = UiER IE#EEEE Max. Gripping Diameter B E
MODEL A B C D E F G H J K L Max.Speed NI IR feslut= Weight
/ SPEC. r.p.m.(min"") 0.D.Clamping I.D.Clamping (k@)
SC-03 85 45 60 73 16 3.5 3-M6x1P 35 11 15 7 2500 22-970 024-064 1.5
SC-04 112 58 80 95 24 45 3-M8x1.25P 42 14 17 8 2500 23-090 032-084 3.3
SC-05 132 60 100 115 32 45 3-M8x1.25P 50 16 20 8 2500 23-9110 235-2100 4.6
SC-06 167 66 130 147 45 5 3-M10x1.5P 65 19 23 10 2000 24-0160 248-0150 7.9
SC-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.0
SC-08 203 76 160 176 58 5 3-M10x1.5P 75 22 28 11 2000 24-0180 256-0170 13.3
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.3
SC-10 273 86 230 250 89 55 3-M12x1.75P 98 28 39 12 1800 26-0260 270-9250 26.2
SC-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 210-2300 286-0290 37.6
SC-14 355 112 300 328 127 7 6-M12x1.75P 132 35 50 15 1500 012-0350 ©96-0320 57.2
SC-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 214-0400 2100-2380 80.7
U7XJ\Z&g
FHERY7X/T\BRE
R Y & > Dimensions
BU3LEY %38
J Front Mounting Rear Mounting G
= 4
.
i
e L S &
% | :
L
B
82 #% 38 > Specifications BE/UNIT:mm
AT FRAS e biER IEEEEE Max. Gripping Diameter 38
MODEL A B C D E F G H J K L Max.Speed IR Weight
/ SPEC. r.p-m.(min) 0.D.Clamping (kg)
AS-04 112 58 80 95 32 45 3-M8x1.25P 45 14 46 8 1200 02-032 3.8
AS-06 167 65 130 147 60 5.0 3-M10x1i.5P 66 19 43 10 1200 23-060 8.2

47 (FBEIEEIRAER

BISLEY %33
Front Mounting Rear Mounting /Q
——c
I
=-— - g8l
F
g
#8 £% & > Specifications EEiI/UNIT:mm
AT /4R BeOER CiEE5E Max. Gripping Diameter /8
MODEL A B C D E F G H J K L Max.Spged NI ESTRcE ut Weight
/ SPEC. r.p.m.(min')  ©.D.Clamping I.D.Clamping (kg)
PS-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.1
PS-09 233 84 190 210 70 55 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.4
PS-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 010-300 086-0290 38.1
PS-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 014-0400 2100-0380 82.4
1 O
FERY/\ T\ 225
R T & >» Dimensions
B
G
NS
3
Ll
R £% 38 > Specifications B /UNIT:mm
BT /3RS ReOiEsE IEEFEE Max. Gripping Diameter PE
MODEL A B C D E F G H J K L Max.Speed NEICIE Weight
/ SPEC. r.p.m.(min") O.D.Clamping (kg)
AE-09 233 84 190 210 100 5.5 4-M12x1.75P 85 24 60 12 1000 07-0100 21

(For the precision standard, please refer to p.61)[48



Front Mounting Rear Mounting SKB Tl B3, B3
G Front Mounting Rear Mounting /Q
HEs === Bt =
) i T e
== 4l
—Ky QR ~ g —*K 13
HERE 4 e
L] _ILE
Y
B B ] Jod
g —L
#2 1& 28 > Specifications BE(i/UNIT:mm
AU /ARAR ESDiEE ICIEEEE Max. Gripping Diameter  (5E #7218 5= > Specifications EEfiI/UNIT:mm
MODEL C D E F G H J K L Max.Speed MO Eapeuti— Weight . R o o ) o
/ SPEC. r.p.m.(min")  O.D.Clamping 1.D.Clamping (kg) AU /3R R LEER EE?E? Max. Grlpplngflametef -2
SK-04 112 58 80 95 24 45 3-M8xi25P 47 19 315 8 2500 03-0100 035-093 3.45 MODEL A B C D E F G H J K L MaxSpeed st PIEiBiE - Weight
SK-05 132 60 100 115 32 45 3-M8x1.25P 57 24 36 8 2500 03-0123 043-0122 5.0 / SPEC. rp.m.(min")  O.D.Clamping  1.D.Clamping  (kg)
SK06 167 66 130 147 45 5 3-M10x1.5P 68 26 39 10 2000 28-0160 ©55-0150 8.6
SK07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 062-0170 12.8 PSK-07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 062-0170 12.7
SK08 203 76 160 176 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 062-0170 14.1
SK-10 273 86 230 250 89 5.5 3-Mi2x1.75P 102 35 545 12 1800 212-0260 280-0250 26.7 i i i i
SK-12 310 96 260 285 105 7 3-M12x1.75P 118 40 56 14 1800 015-0300 090-0290 393 B 310 96 260 285 105 7 S3Mi1.75P 118 40 % 14 1800 015-0300 090-0290 43
SK-14 355 112 300 328 127 7 6-M12x1.75P 139 45 705 15 1500 225-0350 2110-2320 60.7 PSK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 330-2400 2110-0380 86.7
SK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 230-0400 2110-0380 82.3
SK20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 2125-0460 145.5 PSK-20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 0125-0460 149
SK25 630 140 545 586 275 65 6-M16x2P 140 70 92 19 850 080-0630 2198-0601 221.3
SKB-25 630 140 545 586 320 65 6-M16x2P 140 70 92 19 850 2160-0630 0274-0646 2085 PSKB-25 630 140 545 586 320 65 6-M16x2P 140 70 92 19 850 2160-0630 0274-0646 215
= 1 — KE g ] [p— KE
EIEB — /T\zLg B3 8 = JT\Z&g
R - B > Dimensions R - B > Dimensions
E-1 A2y Fig.1 A1 type &-2 A28)  Fig.2 A2 type |
- -C- G
HEHs —
iU e =
| I
SRR ==
Sovd| = E L = 1
g =" ol gL—K Lk Hel  Slg
N \ I Y S
&/ 70 730" : Q_/ 7 7'30" 7770
- L
B B
A 18 F= > Specifications EE{T/UNIT:mm #2 1% & > Specifications EEfiI/UNIT:mm
T3t 848 s=E BSOS MaxGr;;Eg)%?gEameter . AT 4R B DR ?E}E§E Max. GrippingEiameter /@E
MODEL D E F G H JKL P M N Reference Max.Speed #s\imimig mIfsiei®  Weight '>/IOFI’:)EEL A B C D E F G H J K L MaX.Sp(_eei:i IEIEIE MIEIEIE Weight
/ SPEC. Drawing r.p.m.(min") Claorr}?)ing Clalr'~r?;5ing (kg) SPEC. r.p.m.(min")  O.D.Clamping I.D.Clamping (kg)
: D15-08" 200 83 82563 15 46 19 1048 82 28 43 11 2000 28-0180 062-0170 17.8
A15-08" 200 83 335 61.9 40 0104.8 3-M10x1.5P 82 82.563 28 43 11 14.29 ¢16.3 6.8 B-1 fig.1 2000 08-0180 062-0170 17.4 D16-08" 200 83 106.375 16 58 222 1334 82 28 43 11 2000 08-0180 062-0170 17.3
A16-08" 200 83 335 826 56 0133.43-M12x1.75P 82 106.375 28 43 11 15.88 019.3 6.8 B-1fig.1 2000 08-0180 062-0170 18 D16-10" 255 94 106375 16 76 222 1334 93 32 50 12 1800 211-0240 070-0230 31.3
Ai6-10" 255 91.5 365 826 56 ©133.4 3-M12x1.75P 93 106.375 32 50 12 15.88 ¢19.3 6.8 fi 1800 ©11-0240 ©70-0230 30.6 D:8-10° 2% 94 199719 18 76 254 1714 93 82 S0 12 1800 011-:0240 070-0230 50.9
6 95915365 826 56 0133.4 3Mi2x1.75 375325012 15.88 019.3 6.8 B&-1fig.1 011-0240 070-0 : Dig-12' 310 105 139719 18 103 254 1714 118 40 56 14 1800 015-0300 090-0290  51.1
A211-20" 500 135 40 235 190.5 0235 6-M20x2.5P 140 196.869 55 84 19 -- 029.4 10.7 B-2fig.2 1000 025-0480 0125-0460 161.5 Di11-20" 500 135 196.869 -- 1905 30.2 235 140 55 84 19 1000 025-0480 0125-0460  165.5

49

R < B > Dimensions

AUSLEY

3-]AW POWERFUL TYPE SCROLL CHUCKS
5ig ) BY — I\ 258 G S

Larger Through Hole

%31, 8

L3

R < B > Dimensions

Larger Through Hole

PS 4-JAW POWERFUL TYPE SCROLL CHUCKS
CEABEE NS IN PSKB : A3

(FBEEERERSR

=

ES]

618)

(For the precision standard, please refer to p.61)[50




